1. sin(90°-A) =

NeRIEN|

A o, tan A ] gk FFotolet. (F,0° <A <90°)

22 42 242 42 72
°F @ ©5 @5 9%

7
sin(90° — A) = cosA = 9

olmg

BC = /(9%)2 - (Tk)2 =
4k\2

. tanA = %ﬁ




e _e-_---




3.  sin0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7

V3 V3 V6
@1—5_ ®1+? (@1—7
@1+76 @2—73

sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°

2
zoxé—i—lxl—ix«ﬁ

2
V6
=1- —
2




o 2L v B Zolrk 191 AR §l0] AzhiztE g 1R
7Jo

Z1o]t}. sin 50°, cos 50°, tan 50° = A-E 0 2 vreljoja}.

|IE'-

> sin50° = BE

0x
o

> cos50° = OB

vV VvV VvV v v V
0
L

0
iU

> tan50° = CD

:
(ws]

g
w)




0°<x<90° 4o, Bs F &2 227

® -1<cosx<0 (@>0§sinx§1
@ 0<tanx<1 @ -2<sinx<-1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx >0




A

filo
Ho

e B S &
FABAL,

Yy

Ui
—m— 4
2 N\

V2 ]

2 9

Mo

@ 0°<A<45°Y
o, sin A < cos A

© A=45°Y o,
sin A = cos A 0
® 45°<A<90°¥
o, 1 <tan A
> E
> £
» G
ESI= Q)
> A O
> AL ©

@ sin45° = cos45°°]3, 0° < x < 45° 9| 4] cosx Q] I =7}
sinx o IZHT) Qo EASIER 0° < A < 45°Y o,
sin A < cos A ©]t}.

© sin45° = cos45° = —

6|’_‘

© 45° < A < 90°¥ W], tan45° < tanA O|E &2 1 < tanA
o|ch.




B3 cosx = 0.6947 = TH=5H= x of] 5t tanx 9] 3

4
Ol o
2y
it nl?lm

== sin cos tan

44° 10,6947 | 0.7193 | 0.9657
45" 10,7071 | 0,7071 | 1,0000
46° | 0,7193 | 0,6947 | 1,0355
470 10,7314 | 0,6820 | 1,0724

>
> ™ 1.0355

cos 46 ° = 0.6947
L x=146°
wh2hA] tan 46 ° = 1.0355 ©]tt.




ohe 18 9] AZME7 ABC oA cosB

olc}. ¥

8.

2 A9 o,

T

™

—_—

AB X cos A o|B 2

HIH o] Zo]7} Folx AL

BC




4 cm
A B

@2\/50m @ 4+5cm ® 2+V7cm

@ 3cm ® 4+3cm

BC 2 2
:=_—OEE = — O
sin A 3 ] 4 AC><3 =
= AC = 6cm

25 cm ©]t}.

et menets Galo] o) AB = VB2 - 42 = V20 =




10. sin(90° - A) = % A o, tanA ] F-2? (F,0° <A <90°)

5 5 12 13 12
@ = ® = @ — ® 3

®E 13 5

B

sin (90° — A) = cos A

5
tanA = —
an 12

BEEPN
13cm N
.
L’ 5cm
z '
P /

A\‘~12cm-‘/




A2

Mo

=

oo

%
@ sin0° = cos0° = tan0°

@ sin45° = cos45° = tan45°
® sin90° = cos 90° = tan 90°
@sin 90° = cos 0° = tan 45°

® sin0° = cos90° = tan 90°

B

@ sin0° =0, cos0° =1, tan0° =0

2 2
@ sin45° = \/7_ , Cos45° = ‘/7_ , tan45° = 1

@ sin90° =1, cos90° = 0 , tan 90° = Yt
® sin0° =0, cos90° =0, tan90°-2 it}




12.

3V3
2

@
B

sin 30° X cos 30° + tan 60° X cos 60° 2] Fre?

sin 30° = %, cos 30°

V3
2"

\/75, tan60° = V3, cos60°
V3 V3 3V3

T2 T

o8 2

1
X_
2




13. o= A9 g7
1
3 tan 45° — 3v2 cos 60° + V3sin 60°

o 1 @4—3\/5 ® 4432

N 2 2
@4—32 ® 0

1 1 3
(FA4) =-x1-3V2x =+ \/§><£
2 2 2
1 3 3
=373V2%3
4-3+2
- o},




5 _
3x2 +ax—— =09 T 0] cos60° € W, A= a O] G

O|EE x o] ghofl thdstH




15. ohg 287 2ol /¢ = 90° 9 A7 A
ABC A AC 9 ZolE Fdh= 427
B\‘ /c
—_5--
sin40° 5
5sin40°
oo @ 5 tan 40 °
@5tan40° ® 5cos40°
AC AC
tan40°® = — = —— o]t}
BC 5 et

wteba] AC = 5tan40° o]t}




16. o= 199

2Pkl A x o] e

@ 9 ©) K

@7




17. /B = 90° ol AZHI7e] ABC of tisiA] AB — gm ol o, tanA 9|
ZHe akolal

>
> =g
5




o
%
)
oo
I
o
1o
>
>
oy,
@)
2,
>
2
S
i)
1o
kH
i
H
R
=
1
=
o
-
_O|L
i
2

aB sin x cos T tan =

43° 0.6820 0.7314 0.9325
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